EARAROBEEIERT — 2 N— IBISH —F

201958H29H () 10mEPI5I6H

R ARG 5

Y IR2BHE

‘ [Rfg] 2 ‘ [EERRE] — | 4 (&) 12000 =

[A~&£] 1 7% :1,500,000  ~ 23 :300,000  37&:225,0001™

4 7% 150,000 5 3& 75,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s 2 | FIZREE 1:14.2 1-1 8.2 — 1 470 | AIIFH (tiEE)
1 3 T2y b it 54.0E (=) (o) (%) ';‘/Z?t?“
LN—HNE B:IIVT 1> RS
7 5 # 2 | SREA 1:14.5 42 |3.2| — | 2 | 428 |EEEL (timH)
2 4| A1 —hT1TZ 54.0 a1/2) (o) |EEE -
L:VENTF— B:TITY—XTAI WA e
s 42 | BREBIXSE 1:15.4 3-2 39.2| — 4 456 | FERLL (GtimE)
3l8lg|F—74 54.0 @ (=) | FEEtgs .
L:hE—Xa—F— BigqoO-— il SRR
s 2 | Bt 1:16.1 2-2 40.1| — 5 504 | ABE— (dtiEE)
4717|2978 54.0 3) (—) |EB=— .
RNZ—k21—Z B:LT1—XTFA b =R/ 85
o s . R :16. — . — HREZ (dtiEH)
5 6| NINT A 2 5.0 (12 116/26) 66 5.4 8 ?EO) IR i
R:Fh¥~71282 B:5T7V-74 EEPNET e
. 4 o2 | UABEE 1:16.7 5-5 40.1| — 9 456 | BT EIEFD (dtimE)
6/8|9|F-~A%— 54.0 (172) ) |EmE
R:IA2T7Fy>a B:Jdrz—Ib\A bk R/ E77—L
o BHET : - - 12 ARER (dties)
", DA *o2 | BH Tt N T2 werz
L:T7=0T74—Z BTIVRTILIX HETy— LI
o1 HLERE 7. - . — ek (AtE)
8s|5 |/ 5rxazn w2 | g e e
R:7—974—-Z2 B:7O0>Y14—L4 J=HTy—LI
g # o2 | AlE 1:18.0 9-9 39.3| — 6 418 | BllIEE (timE)
ol1l1| 27—k 5.0 & O |mERx
R:YyZ24—3=22%— F:7U—-Y7a—h EiE S
® I—F—@EBIERL
13—-7-
23—7F—
33—7F— |3,7,8,4,9,6,(2,5),1
41—F— 3,(4,7,8),9,6,(2,5) 1
[ RN
-y 3 2101 | | 74 K 3-4 1909 | | # &= 3-4 740 | | 3EE 3-4-8 1,010
# B 3 110M 3-8 240 B E 3-4 510 EE 3-4-8 2,860
4 1509 4-8 590M B H 3-4 580M
8 160/

ABICOVWTRDTEEERROODE. TR LIV,




